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oH) 2,000, 0002 20| CH 40,000
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s 45,150
Al 105,350
401 AIEHIZ 28I 150,500 144,276 6,224
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OZHHFFAIE EIITHOH Ol 2 AL
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= 45,150
Al 105,350
diteiAe 2 HAXR(ARISR/ =) 2,887,049 3,402,173 515,124
= 175,000
Xl 72,941
= 611,293
Al 1,418,665
CH 368,000
= 241,150
gieldE N3AAY 1,576,726 2,203,334 A\626,608
Xl 7,515
= 435,854
Al 782,207
CH 110,000
= 241,150
FHY 2 Mgy ANH 8,800 20,700 A11,900
201 Zet=3h] 8,800 13,500 24,700
01 AtR2te|HI 6,600 11,300 A4,700
OYX2IAAS 31O LY
100,000& »7 32 2,100
OMIHBMES 29 HA4-
100,000& *11E 23] 2,200
Ogxtel 222 M & 2y 1,800
—&=% 60,0002 x107H*23] 1,200
—oH BER S 300 *1,0000H*22] 600
O Xtel s M=
250,000& 22 500
2 s5=34l 2,200 2,200 0
OLX2IFEAAE(II2AT) X2l 2,200
—=7AE 165,000 « 128 1,980
—ANAEZASEHI 55,0002 42 220
AR EBMXAME 725 2 2 195,677 178,372 17,305
307 elztol & 195,677 174,672 21,005
05 2IIRIE =2 195,677 174,672 21,006
OAZ HZMXI2HE 29
195,677,000 *14] 195,677
(2)ZS A& HI=UA FELXI2IAIY 17,019 56,980 A\39,961
N 7,515
= 4,674
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Al 1,470
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Hl) 14,919,000 » 14 14,919
N 7,515
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OUfet2l= XISFHM 4l etetsl =t
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= 10,180
Al 91,660
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< 9,710
Al 87,430
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04 JIZtN2Z2XNSE+ 338,290 272,000 66,290
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338,290,000 *14] 338,290
[ 9,710
Al 87,430
= 241,150
201 =3 4,700 4,700 0
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O =9 M= 60,0002 1571 2 900
& 0
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M IIRIMZ2ZEXSE 578,100 513,100 65,000
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& 540
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(Z)FHS XA SEFAL 250,000 0 250,000
== 50,000
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Al 200,000
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= 50,000
Al 200,000
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= 175,000
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A3 X2 31,840 29,980 1,860
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OHEEMAAS 30 BHLL
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Xl 21,168
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N 21,168
Al 41,332
02 B HAHE L 62,500 143,676 AB1,176
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N 21,168
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&
N 30,758
= 17,784
Al 17,784
308 AHAIEMSOIE 66,326 118,425 A52,099
N 30,758
= 17,784
Al 17,784
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OFSHE FASY XML
66,326,000 *14] 66,326
N 30,758
= 17,784
Al 17,784
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Al 7,800
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Al 42,000
307 212t01™ 60,000 90,000 /30,000
= 18,000
Al 42,000
02 QIZtEHAEE X 60,000 90,000 /30,000
OZ=EY HHIE St SEA
60,000,000 * 14! 60,000
== 18,000
Al 42,000
(D)HHAEIEAXA 130,000 165,000 /35,000
= 27,680
Al 102,320
307 212t01™ 130,000 165,000 /35,000
= 27,680
Al 102,320
02 QIS EX 130,000 165,000 /35,000
OHEAEIEY XA
130,000,000 * 14! 130,000
S 27,680
Al 102,320
(Z)ASUHE NS WX 50,000 50,000 0
= 15,000
Al 35,000
307 212t01d 50,000 50,000 0
= 15,000
Al 35,000
02 QIS EX 50,000 50,000 0
Ourst e THstn KJAAS
50,000,000& »14! 50,000
== 15,000
Al 35,000
(Z)E LRI ERSI ISR 12,000 24,000 /12,000
S 3,600
Al 8,400
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Al 8,400
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12,000,000 * 14 12,000
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= 11,475
Al 11,475
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= 11,475
Al 11,475
183 S| 2SS ZB XA AIE 22,950 23,310 A360
OFEZZA METHSAH
22,950,000 * 14! 22,950
== 11,475
Al 11,475
A=HEHY XM 2 (NLAZUHEIIS) 258,000 210,000 48,000
CH 258,000
307 21201 & 258,000 210,000 48,000
CH 258,000
02 2IZHBYAIHE A 258,000 210,000 48,000
OLFHARZENAME 2 (DX HoH)
258,000,000 * 14 258,000
CH 258,000
CHEHA OFZHIOIE XIE A 55,607 52,061 3,546
101 @124H| 55,607 52,061 3,546
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10,0302 x42& »6 Al 2H+22& 55,607
FHAS0I2 238l XA 8,100 9,000 A900
307 @I2t01 & 8,100 9,000 A900
02 LB HANHEE 8,100 9,000 A900
OIS0l 2sHl XA (EXE 90%)
1,000,000 *9&! 90/ 100 8,100
FEEH ofoICIN S22 2,900 2,900
301 EtE NS 2,900 2,900
14 DBt 23 2,900 2,900
OFEHZEX OtOICIN B2 A= 2,900
—3RF 1,000,0002 %1 1,000
- 500,000 x2H 1,000
—&d 300,000 *3& 900
(VA MR 312,000 88,000 224,000
= 156,000
[ 46,800
Al 109,200
301 2eEN=S 312,000 88,000 224,000
= 156,000
s 46,800
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OFEEN XA
312,000,000 *14] 312,000
= 156,000
= 46,800
Al 109,200
(RVHEEATNEESSEEESESS ALY 38,000 18,000 20,000
= 19,000
= 5,700
Al 13,300
301 LEetE N = 38,000 18,000 20,000
= 19,000
= 5,700
Al 13,300
01 Al EEABZ2(2DEEMR) 38,000 18,000 20,000
O8d HNEZSsE2S 255 NS
38,000,000 * 14 38,000
= 19,000
S 5,700
Al 13,300
HH OIAHIE XA 20,000 10,000 10,000
301 LEtE N = 20,000 10,000 10,000
14 JIEt 2 a3 20,000 10,000 10,000
OFH OlAHIE X 500,000& x40 20,000
g 0s & NSNS SAE XA 20,000 20,000 0
301 LEtE NS 20,000 20,000
14 0Bt 2a s 20,000 20,000
OFA 013t U UAAIY SN2 X2
200,000 »100H 20,000
Y AP SA2H XA 20,000 21,000 21,000
301 LEtE NS 20,000 20,000 0
14 IIEt2 83 20,000 20,000 0
O3d IHY A28l X2
50,0002 400 20,000
FHZ2ZN 0S8 A2 A 25,000 25,000
301 EetE NS 25,000 25,000
14 0Bt 2a3 25,000 25,000
OFHZ 2L optgstl X
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(D)EEeNel 22 524 I2HE 72,000 0 72,000
= 21,600
Al 50,400
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& 21,600
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70,0002 *20E 102! 14,000
HN2AZH(L X2/ (OIEHIIEL 104,452 107,104 N2,652
238l 104,452 107,104 A2,652
J|=2Z| 104,452 107,104 A2,652
201 B2 AL 28,912 27,484 1,428
01 A=R2teld| 28,912 27,484 1,428
O=AMEX 7
20,0003 #1772t A% 12E 4,080
OS20H4lH| 9,000 *7AIx17H+12& 12,852
Ogiteg 100,000& «12& 1,200
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1,000,000 1CH 1,000
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100,000 *4CH*50/100 200
—=S A EY 200,000 *53 |+ 1CH 1,000
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200,000& *53 *4CH 4,000
—T2IHD| EU(ZA)
200,000 *531CH 1,000
—PC =2l 100,000& *17CH*20/100 340
—J|Et ==2lHl 50,0003 *12& 600
OJIEH AtR2t2|H]
10,0002 =178+ 12 2,040
202 bl 63,240 67,320 A4,080
01 =LHO4 b 63,240 67,320 A4,080
OZLHoYI 20,0002 x17F* 12+ 122 48,960
O=2 0| 120,000 *17Z 7 14,280
203 AR F=&lY| 6,900 6,900
01 J|2A2H PR FXIH| 3,300 3,300
OZHAAIE |22 HRFE|
3,300,000 *1H 3,300
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